CONVERSION BETWEEN 2-DIMENSIONAL COORDINATES

Cartesian Polar
2
% x =rcosf
)
g y =rsinf
®
Es r=+/22+ 1>
o
| tanf =y/z
(tan™1(y/x) ifz>0,y>0
tan~1(y/z) + 27 ifx>0,y<0
6=, tan~l(y/z)+7 ifz <0
/2 ifx=0,y>0
37 /2 ifx=0,y<0
\ indeterminate ife=y=0

CONVERSION BETWEEN 3-DIMENSIONAL COORDINATES

Cartesian Cylindrical Spherical
EG xr =1rcosf x = psinpcos b
é y =rsinf y = psinysinf
CC)G z2=2z Z = pCos
s .

- 2 2 =

E r=+/x*+y r=psiney
E tanf =y /x =0
5’ 2=z Z =pCos
g p=Vat+y?+2? p=VrTE 22
g tan p = /2% +y?/2 tanp =r/z
A | tanf =y/x =0




